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GENERAL INSTRUCTIONS TO THE EXAMINEES
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Candidate must write first his / her Roll No. on the question paper compulsorily
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All the questions are compulsory.
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Write the answer to each question in the given answer-book only.
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For questions having more than one part, the ansWers to those parts are to be Wwritte,
»
together in continuity.
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If there is any error/ difference / contradiction in Hindi & English versions of the question
paper. the question of Hindi version should be treated valid.
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Write down the serial number of the question before attempting it.
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Question No. 21 to 22 are related to map-work carrying 2 marks each.
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Attach the given outline maps of World and India with the answer-book.
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Multiple Choice Questions.
i) el Wi =1 g R - [1]
(31) T e (@) & i
@) FafFe e (3) fom e
Sub-field of Economic Geography is -
(A) Geography of Resources (B) Military Geography
(C) Medical Geography (D) Gender Geography
) A faaror st wwiia & are anfifes IRk gm g - [1]
(31) wfis - Tl (F) 9 R — airariem
(w) g - o () Ta - T
Pair of Economic factors, influencing the distribution of population is -
(A) Minerals - Urbanisation (B) Land forms - Industrialisation
(C) Climate - Land forms | (D) Soils - Urbanisation
$§5-14-Geog. 3009
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(31) fom duem (@) g FR=
(W) =TEEas A () TR — 3 T

High literacy level is an indicator of -

(A) Sex composition (B) Age - structure

(C) Occupational structure (D) Socio - economic development
iv\). HHa foehr 6 srmaron e @ - [1]
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Who introduced the concept of Human Development -

(A) Prof. Amartya Sen (B) EllenC.Semple
(C) Dr. Mahboob-ul-haq (D) Ratzel
v) e et o e - [1]
(30) wfis smfa s (?] I THEHTUT T
(|) R awenfa Ian (3) Uy anenfa 3Tm

Fruit processing and confectionaries are types of -
(A) Mineral based industry (B) Food processing industry

(C) Chemical based industry (D) Animal based industry
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vi) ST afe 8 s o e T € - [1]
(37) el urqu @) Hrevs
(|R) = (@) Xa 3 hamfys Hgum
The main source of pollution in rivers of India is -
(A) Toxic metals (B) Insecticides
(C) Salting (D) Organic and bacterial contamination
ﬁ{) 3R it TR R ey frd & - [1]
(31) . st A (F) F=am
(R) s niedr . (3) wEE--T=
Who presented the concept of Indira Gandhi canal
(A) Prof. Amartya Sen (B) Kanwar Sen
(C) Indira Gandhi (D) Mahboob-ul-Haq
xrfﬁ) TER TR R 7 B T & o st s s - [1]
(%) |a W (@)
(®) 7w A wRiwT (3) T = A
Which programme has been launched to clean Ganga on National leve] -
(A) Har Har Gange (B) Namami Gange
(C) Ganga Gram Programme (D) Save Ganga Programme
ix) g wr-fafie g g - [1]
| (I} == (@) w@=f
@ =g (3) WRETHA wewm
Which pollution is location specific -
(A) Water (B) Noise
(C) Air (D) Oceanic Pollution
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__ _cultivationisa speciality of mediterranean agriculture.

i) e R ST R Fm § o FTRALL ]
The revolution in transport came about only after the invention of the
engine in the eighteenth century.

i) A= % =R S g e G S-S AR [
Settlement pattern developed around lakes is known as pattern.

iv) 30 R UEeh TEA SNy A faet B RUTTT coeeeeeee TR EE AR T (1]
The first successful modern cotton mill of India was established at

A AR T -

Very short Answer type questions -

1)

1v)

‘vﬁmmmﬁaﬂ?mmmm%”maﬂmﬁﬁmﬁﬁﬁa
22 [1]

"Nature provides opportunities and human being make use of these" This
sentence is concerned with which ideology?

UNDP = gt =4 feriee | 1]
Write full Name of UNDP

?flmﬁlﬁﬁﬁ?maﬁﬂi:m%ﬁi‘ll [VarVo=1]
Write names of two primary activities.

“giearclt” e | [1]
What is "Haryali".
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Short Answer type questions -
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SEE ST @ uimie i | [1v2]

Define population density.

TE fewrm % 3 3anm g | [3% + % = 1¥2]

Mention two approaches of Human Development.

ayfA a2 durt w A T fafmior 6t & Rrsreand s | [34 + 3% = 1Y)

Mention two characteristics of modern large scale manufacturing.

=eoe IO W 2? [1v4)

What are foot loose industries?

g77 3 AW’ R wehy # feoquft ferfm | [1v2]

Write a short note on "Big Trunk Route".

qﬁgm:mﬁmﬁﬁmaﬁﬁmﬁﬁmﬁﬁmaﬁaﬁ%ﬁga&ﬁmm

If you are appointed as Urban Development Minister, how will you solve the
environmental problems of the cities?
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What is the main purpose of "Bet; Bachao-Beti Padhao” campaign?

11) Yo g sarEn | (1%

Mention the streams of migration.

12) HfwR T = aftaia Sifvw | [1%]

Define Garrisson towns.

13) <ta =t it wéa # smen fifwm | | [1¥3]

Describe in brief, the bio-energy.

14) T dreufig fyera & @ 3l 272 [1V2]

What is the meaning of sustainable development.

15)_ 7ard uftegs = an fordte wEe B @2 [1v2)

What is special importance of Air Transportation?
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Long Answer type questions.
16) fruer ™ AR & SRR gl % gert B T0H Dty | (3]
Describe the types of port according to cargo handled.

17) mmwmﬁwm@ﬁ%ﬁwﬁwﬁamé | gwERm wage | [3]

An Industrialist establishes sugar industry within the sugarcane producing region
mention with reason. https://www.rajasthanboard.com

18) ﬁwhqdm—m%ﬁwﬁ%mmmmmﬂmmﬁﬁm| [3]

Classify roads on the basis of purpose of construction and maintenance.

TR -3
SECTION - D

FrarerreTes w -
Essay type questions -
19) wdea & oy T §Y WA i WM R At Ean! ) R Sif | [1+3=4]
" Discuss factors affecting tourism, mentioning its benefits.
FUA/OR
ST g @ g 37 Ao farau 53 qen s fuom ¥ A wate § vz |

What is trading tentre? Explain in brief, the rural marketing centres and urban
marketing centres.

3009

88-14-Geog. [ Turn Over




10
20) mﬁﬁmﬁiﬁﬁﬁwaﬂhﬁqﬁﬂaﬁﬁmmm— [1+1+2=4]

#A) wEA A=
9) Woarg g
|)  IEH 4
Describe Rice farming in India, on the basis of following points -
a) Crop introduction
b) Climatic conditions
c) Producing area
Fa/OR
ardra FR f wr Tt © sarem fifa |

Discuss four problems of Indian agriculture.

L B
SECTION - E
21)'1??%%93%1@—%3‘5%33@@@3&%%- [4x%=2
(1) o= (/) =qEeh
(v) freh (3) ¥ T

Mark the following air ports on the given outline map of the world,

(A) Mumbai (B) New York

(C) Sydney (D) Cape Town
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22) R N 5 - & R TR s ot e o - (4 x e = 2]

(#) ©nfd @) i
(W) et (8) Fenfeen

Mark the following ir;m—ore centres on the given outline map of the India.

(A) Ratnagiri (B) Durg
(C) Ballari (D) Bailadila
VVVV
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